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How Many Solutions to the System?

December 06, 2019

Method One Solution No Solutions Infinite Solutions Ve
Best fo use when: ;_’ X, \j‘)
Both equations are in slope —
intercept form.
[y = mx +b)
= i
< EX:y=3x-1 L . . . . . .
@ y=ox+4 Solution is the point of | Lines are parallel and Lines gre identical
B intersection. do not infersect. and intersect at
Solutions are integer Slopes are equal) every point.
coordinate points (no .
decimals or fractions) Different Slope . —Sw Some. Slope
Different y-intercept | Rifferent y-intercept Same y-intercept
(Sarme Equations)
Best to use when: After substituting and
One equation has been simplifying, you will After substituting, After substituting,
c solved for a variable or both be left with: variables will form variables will form
'% equations are solved for the zero pairs and you zero pairs and will
= same variable. x=# will be left with a leave you with a TRUE
é y=# FALSE equation. equation.
v EX:yZéEBor y=3x-1
3x-2y=10 y=-x+4 | Solution will take the 3 4=4
form of (x, v)
Best to use when:
Both equations are in
standard form. After eliminating and
(Ax+ By =C) simplifying, you will After eliminating, After eliminating,
be left with: variables will form variables will form
5 Coefficients of variables are zero pairs and you zero pairs and will
‘E opposites. x=# will be left with a leave you with a TRUE
E 3x+éy=5 y =% FALSE equation. equation.
= -3x—8y =2
Solution will take the @ 0=0
Equations can be easily form of (x, v)
made into opposites using
multiplication.
-2(4x+ 2y = 5)
8x—6y=-5
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Day 7 — Real World Applications of Systems

When to Use Slope Intercept Form (y = mx + b)
Rate — the rate is yvour slope
o This number is always related to the

® value
l o Per or eachis often associated with
slope
Flat Fee/Starting Amouni — this is your y-
intercept b Q/
This value is consfdni

(=]

Scenario 1: The admission fee for the county fair

When to Use Standard Form [Ax + B
Two Numbers - represent

Mumbers per x and numbers per y
Typically addition is involved
lal >’ what equation is set equal fo
Mo beginning amount
Neither variable is dependent on the other

2 vates

o

o

includes parking, amusement rides, and admission to all commercial, agricultural, and judging exhibits. The

cost for general Gérﬁjssion ind the price for chil
on Thursday. The admission fees collected amounte

faire
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Scenario 2: Ms. Ross told her class that tomorrow's math test

e

There were eople who attended the fair

How mcmy Chlldren nd adults attended the
‘—Ij 2769
~19=314 53
_%g, - 315
Y=\ 3s

il have 20 questions and be worth 100 points. The

multiple choice questions will be 3 points each and the open ended response questions will be 8 points each.
Determine how many multiple choice and open ended response questions are on the test.

Scenario 3: Serena is ordermg lunch from Tony's Pizza Parlor. John told her that when he ordered from Tony's

last week, he paid

pizza and

2 2
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X :cast of pizen
8-‘(0_& oF dvinks

e

3

3

X+3
X+3

r@] 6inch p}éos cmd@d ﬁ}s

d@s it cosf What is the cost of one 16 inch pizza and one

Rl 2

""l

Jodi told Serena when she ordere 51 6>§Qh

=
J 23
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_23
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Scenario 4: The Strauss family is deciding between two lawn care services. Green Lawn charges a $49 startup
fee, plus $29 per month. Grass Team charges a $25 startup fee, plus $37 per month.

a. In how many months will both lawn care services costs the same?2 What will that cost be?

b. If the family will use the service for only 6 months, which is the better option? Explain.

Scenario 5: Jenna is deciding betweerq two cell phone plans. The first plan has 'gnup fee and costs gl Z
per m?ith. The second plan has o@ignup fee and costs M. — 7%

Y- mx+b
25~ +4H0

a. After how many months months will the total costs be the What will the cost be?

Cust N 20x + 50 X*L'LO:%*@ Y= 2

ey Jo) 2ox = =25 (2) +40
s fi&i?xf's R ok g@-SDVqD
X men 5x=10 =90

“ okl pric XA D
% If Jenna has ‘roSgn aone ylegcon‘rrog_tt\hv hich p;gl;l%e cheaper?
8220(12\#3%) TTUE 25(12) 40
= 240450 g 500 tHO
%:3%0
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Scenario 6: The following graph shows the cost for going to two different skating rinks.

a. When is it cheaper to go to Roller Rink A2

a%)  When upow have imov<

Loan 12 people
b. When it is cheaper to go to Roller Rink B2

A When yow  have Less
R TR —d\ﬂ/l/\ 16 ?w?u s

Number of People

Key

P
— — Roller Rink A c. When does it cost the same to go to either roller rink?
=== Roller Rink B

(W hen Yow haye (3 \wnPLQ

Scenario 7: The graph below shows the money saved by Lisa and Dan over the summer.

y MONEY SAVED —
BY LISA AND DAN a. How long did it take for them to save the same amount of
[T | money? How much money did they both save?

5:{%6@6 =
(o (5 200
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£
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=}
©
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7

5 7T ] b. When did Lisa have more money saved?
RN ev 5 nmondls, Lisa
mEnmi o‘ Ve D
0 2 4°6 s 10 12 14 ka «
Hine Saved k)

c. When did Dan have more money saved?

5@%5‘(( 5 MM{L\S‘ DM
\(wm( ave VM%
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